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Find CT(tanh 'x* +sech3x). SCORE: /15 PTS
X

You may use any hyperbolic identities or the derivatives of any hyperbolic functions without proving them.
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The graph of f'(¢) is shown on the right. NOTE: The graph consists of a quarter circle, a semi-circle, SCORE: /20 PTS
a line segment, another quarter circle, and another line segment.

Let g(x)= j £ dt.
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[d] Find the x — coordinates of all local maxima of g.
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o 2
Provethat5< Ix tan"' x dx < ==,
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Find lim— Z§~—ﬁ by finding the corresponding definite integral, and evaluating that integral.
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The velocity of a car at time / hours after 1pm is given by v(¢) = 1> — 3¢ — 4 miles per hour. SCORE: /15 PTS
Find the total distance travelled by, NOT THE DISPLACEMENT OF, the car from 2 pm to 5pm
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Evaluate the following integrals. If a definite integral cannot be evaluated using the Fundamental Theorem of SCORE: /55 PTS
Calculus, write “FTC DOES NOT APPLY”, and explain why not with proper justification.
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